r? $!® ﬁ 3gaal) &) S dicline

ol: Al
(6x> — 2)(6x + 3) (2x + 7)(2x* — 2x— 2)
(4x” + 2)(3x + 4) (5— 42 (x +9)
(7— P (9x— 1) (x+ 5)(4x+9)
(5+ 2x)(7x + 5) (3% + 2)(5x + 3)
(6— &7 (6x+2) 2+ &7 (8x + 4)
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(6x% — 2)(6x + 3) (2x+ 7)(2x% — 2x - 2)
36x° + 18X — 12x— 6 473 + 10x% — 18x — 14
(4x* +2)(3x + 4) (5— 42 (x+9)
12 + 1652 + 6x + 8 —4x> = 36x° + Sx + 45
(7— P (9x— 1) (x+ 5)(4x+9)
—9x3 + x2 +63x— 7 4x2 + 20x + 45
(5+ 2%)(7x + 5) (3x% + 2)(5x + 3)
14x” + 45x + 25 155 + 9% + 10x + 6
(6— & (6x+2) 2+ & (8x + 4)
—48%° — 16x% + 36x+ 12 64x° + 32x% + 16x + 8
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